%%Dm R
83— | (2)
(1) e
5.
(9)
. ! wrf””“““'"(3) ) 6.
@7 TEL— ||
(10) - )?ﬂ;; g 9.
: ;i ‘\\i‘"(s) 10.
| é?t——w——«m X
97

pEe

4 ‘),_(1) NOTES:
e 1. PLYWOOD SHEATHING.

PREFAB WOOD TRUSSES,

3. '16d @ 6" 0.C.

3 X CONTINUOUS PLATE
WITH 3/4" ¢ ANCHOR BOLTS
@ 48" 0.C. - COUNTERSUNK.

CONTINUOUS GROUTED BOND
BEAM - SEE G.S.N.

MASONRY WALL.
VALLEY SET TRUSSES.
EDGE NAILING.

2 X BLOCKING WITH
3 - 16d PER BLOCK.

SIMPSON A35 AT EACH
TRUSS WITH 3-WAY BEND.

PREFAB_WOOD TRUSSES AT MASONRY WALL
212 .

(1)
—(2)
Pf\wﬂ/ [
(ﬂé//'
(6) T (3)

o G B W
& L ACGESORIE o

1.
2.

EDGE NAILING.

2 X BLOCKING WITH
3 - 16d. PER BLOCK.

 WOOD BEAM.

PLYWOOD SHEATHING.
PREFAB WOOD TRUSS.

SIMPSON A35 WITH 3-WAY
BEND AT EACH TRUSS.

NOTES:

1
o D
¢ B
210) . (1) il
™
R 5
|
B e
S | 172" 1]
(5)-JW‘HL\\\ 4 6.
]
1 _z-ur._.-'-./ ’
BT (3
W>—”’///‘ﬂrlf )
-.L:h‘/ T
i
V4 e
AV 4
//M// /m-fw( )

¢

U —

CONTINUOUS TOP PLATE,
STEEL. BEAM.

2 #5 X 4'-0" LONG IN 8"
DEEP GROUTED BOND BEAM.

. MASONRY WALL,

2 - 3/4" ¢ AUTOMATIC
WELDED THREADED STUDS
ON BEAM GAGE IN 1 1/2"
LONG SLOTTED HOLES

(TIGHTEN NUTS FINGERTIGHT).

STEEL BEARING PLATE {ON
1" + DRYPACK. PROVIHE

2-3/4" ANCHORS

\

|

204 STEEL BEAM AT MASONRY WALL

il ¥ W T
. -
¥
£
£ LY
% IL !1'-‘1"’1’
— A1 1{4"/’T~
H, gl :
/ 5 S ’ /
= ! | i &
w© }]ijv-———f ;I . g
i
AN
s ()
RS
s T e (3
L a : E”r/‘ﬂ_"q‘
|
1 l.!

WO0D BEAMS AT STEEL COLUMN

" NOTES:

T b}

1. WOOD BEAM.)

2 1/4" BENT "UY PLATE
WITH 4 - 3/4" ¢
THRU-BOLTS.

3. |STEEL COLUMN. bt

4. %/2" CAP PLATE - EXTEND

- NOTE:

1/2" EACH SIDE OF COLUMN.

EQUIVALENT SIMPSON CCO
COLUMN CAPS MAY BE USED -
AT CONTRACTOR'S OPTION.

208 PREFABRICATED WOOD TRUSS AT WOOD BEAM e
NO SCALE NO SCALE NO SCALE : 648-22.03 NO SCALE
: NOTES : , (1) NOTES : NOTES:
3/16 . CONTINUOUS WOOD PLATE.
NOTES: 1. FDGE NAILING. (2) Ly SHEEL BEAMS : ;
o o i (3) ot L 2. 3/8" STEEL PLATE. 2. CONTINUOUS GROUTED BOND
2. 2 18 LAYED FLAT OveR s 3. PLYMOOD SHEATHING. _ % AP A8 3./ BOLT SIZE AND NUMBER ! :EQEELYSZELE'S'N'
" PLYWOOD SHEATHING. ' AL PER BOLT SCHEDULE. 1 1721 51/2° (1) ‘ :
Y S <3 (2) e e 2 4 ¥ . 4 - 3/4" ¢ BOLTS ON Sy *hj—JC:;: ' 4. 2 #5 X 24" IN
3o, RUER TS I (6) 5. SIMPSON LU TYPE HANGER, o3 BEAM GAGE. = (2¥\ SOLID GROUT.
1D —
4. EIMPTEZ ?jiIEiE“A? EE- AAE 6. SIMPSON H3 AT EACH TRUSS. \;%- 5. 1/2" CAP PLATE. ] "WOOD BEAM,
IRk e ““\\\\\\\\\ 7. SKEWED HANGER AT HIP e 6. STEEL COLUMN. 1/4% BENT "U" PLATE WITH
* CARRIER TRUSS AT DETAIL ;VJ& / 2~ 34" § THRU-BOLTS AND
6. LINE OF SHEATHING. 209A. | itk 1 - 374 ¢ ANCHOR.
L il ! I\\\\H ' 1" + DRYPACK.
: 74 | | (5 NOTE: STUDS WELDED TO 2 #5 X 3'-6" LONG IN 8" X
/2 . BOTTOM OF BEAM 4'-0" LONG GROUTED BOND
Léi**““\CS} FLANGE MAY BE USED BEAM. i
R IN LIEU OF BOLTS. :
R : ‘,;:"“"
4 /?? (7)(5) v
iy 4y PLAN - TYRECAL VALLEY FRAMING 209 PREFABRICATED WOOD TRUSS AT GIRDER TRUSS 205 _INTERIOR BEAMS AT STEEL COLUMN 202 WOOD BEAM AT MASONRY WALL
637 ~ 951 NO SCALE : ey AS’ NOTED : NO SCALE 415-52.03 NO SCALE ' ; : NO SCALE
NOTES: NOTES: NOTES: i
1. PREFABRICATED WOOD TRUSS. 2 Dhcaatia v i 1. WD TRUSS NOTES:
2. SIMPSON DTC TRUSS CLIP 2., 2 X BLOCKING WITH 4 :
AT EACH TRUSS. 3 - 16d PER BLOCK. 2. PLYWOOD SHEATHING. i G gy e
3. 2 X CONTINUOUS PLATE WITH 3. alx covrxwgous ELATE 3. EDGE NAILING. (1) 2. CONT GROUTED BOND BEAM.
3/4" ¢ ANCHOR BOLTS AT TH 3/4" ¢ THREADED €13 4, 2 X SOLID BLOCKING WITH i
48" 0.C. STUDS @ 48" 0.C. 3« 16d PERBLOCK. U”}Wé—ﬂf\ (2) 3. 2 #5 % 4'-0" LONG,
4. CONTINUOUS GROUTED BOND 4. STEEL BEAM. =42 c SIMPSON A35 EACH TRUSS - 4 o (3) 4. STEEL BEARING
BEAM - SEE G.S.N | (3) WITH 3 WAY BEND i o] PLATE WITH 2 - 3/4" §
- SN 5. PLYWOOD SHEATHING. : . S s AUTOMATIC WELDED STUCS.
5. MASONRY WALL. 6. SIMPSON A35 AT EACH - B3 X“CUNTINUDUS PLATE WITH TIGHTEN NUTS FINGER TIGHT.
TRUSS WITH 3-WAY BEND. et L % 5. 1 1/2" LONG SLOTTED HOLES
USE 2 - A35 STAGGERED T e ‘ 48" 0.C. EACH SIDE OF WEB.
AT DETAIL 210A. b ;
o R 7. CONTINUOUS SROUTED S0ND iy e g,
7. PREFABRICATED WOOD (9)5} I 4 (6) : g GROUTED BOND BEAM.,
TRUSS. N
st Kg\\\ 8y RS0 iy 7. MASONRY WALL.
e 9. USE 2 - A35 STAGGERED
/7 {7} AT DETAIL 206A. 8, REBAR TO EACH SIDE OF WEB.
NOTE : — e g /,// 9. STEEL BEAM.
STEP WALL AS REQUIRED. ; ////:;;: 10. 1" + DRYPACK.
(7) ~/// ’///{fii 11. 3 X WOOD PLATE.
- RO e 12. 2-3/4"% ANCHORS.
214 PREFABRICATED WOOD TRUSS AT NONBEARING MASONRY WALL 210 PREFABRICATED WOOD TRUSS AT STEEL BEAM WOOD TRUSS AT MASONRY WALL ‘003 STEEL BEAM AT MASONRY WALL

NO SCALE

210AYAS_NOTED

NO SCALE

o

NO SCALE

NO SCALE

- NOTES:
g;) 1. NAILING AT 6" 0.C.
(3) 2. 2 X 4 BLOCKING AT EACH
’/f’ BRACE .
e ¥_ | * P { PLYWOOD SHEATHING.
b / PREFABRICATED WOOD TRUSSES.
\\\ _ 2 X4 BRACE AT 24" 0.0
rw“*«~\ﬁk\(4) WITH 3 - 16d AT EACH END.
(5) L\ 6. MASONRY WALL.
(2) 7. SIMPSON DTC TRUSS CLIP AT
™ EACH BRACE.
(7) \\\\ 8. CONTINUOUS GROUTED BOND
Ei e SN <\<:j/> BEAM - SEE G.S.N.
o coempy 9. 2 X CONTINUOUS PLATE WITH
(9}t 3/4" ¢ ANCHOR BOLTS AT

e
2% NOTE:

STEP WALL AS REQUIRED.

48" 0.C.

‘PREFABRICATED WOOD TRUSS AT NONBEARING MASONRY NALL

215

NO SCALE

i
—
P
—
7,

L Dl

NN\

=z v

NOTES:

1.
Z.
3.

EDGE NAILING.
JACK TRUSS FRAME.

2 X BLOCKING WITH 3 - 16d
PER BLOCK.

SIMPSON A35 AT EACH
TRUSS WITH 3-WAY BEND.

1 1/2" MAXIMUM NOTCH.

CONTINUOUS GROUTED
BOND BEAM,

MASONRY WALL.
PLYWOOD SHEATHING.

3 X CONTINUOUS WITH
3/4" ¢ ANCHOR BOLTS
@ 48" 0.€. ]

JACK TRUSS AT MASONRY WALL
211

L NO SCALE

NOTES:

osan

) 1. WOOD BLOCKING AND PLATE
’ BELOW.

2. JACK TRUSS. INSTALL
SIMPSON SUR/SULZ26 HANGER
AT BOTTOM CHORD WHEN "L"
EXCEEDS 6'-0". NAIL TOP
CHORD WITH 2 - 1b6d TO
HIP JACK.

3. SIMPSON SUR/SUL26 AS
REQUIRED.

4. SIMPSON -H2.5 EACH SIDE.
5. HIP JACK TRUSS.

6. TYPICAL JACK TRUSS WITH
3 - 16d TO HIP JACK AT
TOP AND BOTTOM CHORD.

7. CONTINUOUS FASCIA (DO NOT
SPLICE WITHIN 8'-0" FROM

i ‘ : CORNER - EACH WAY).
{8} (7) 8. % £ 18 = TYRICRL AT
‘ A EACH TRUSS. :

207

x

PLAN - WOOD JACK TRUSSES AT HIP JACK TRUSS -

NO SCALE

0

88-581"

i
\- Project HNumber

For _addlﬂona!

consultin
structut

CRP

Project Manager

information shown,

engineers
2500 North 24h Sireet

'CRP

Sylta 300 Project Enginear

but not noted,

Phoenix, Arizona B5008
§02-275-3859
£02-392-0949 (FAN)

WLC

see sheet 81.1

Project Drafter

Architecture/Planning/Interior DeSign

(t LENDRUM DESIGN GROUP

3033 North Forty-fourth Street
‘Phoenm,Aszm385018'

'602/955-2100

ARIZONA]}

JOB NUMBER

10434.00

DATE _
11-11-88
" DRAUN

WLC
CHECKED :

CRP

SHEE S« T T E

ROOF FRAMING

DETAILS
201 = 219

SLARE

AS NOTED
REVISIONS

&

DRAWING NUMBER

S4.1

KINGMAN

&

BRANCH BANK




